é. 4 FHEEBEOSES
O HEEFH0FERTBDEISEER BREHEK ENOTF (- INFE2 N)]D, R
DFERNZERZITBEEDEES!
- FEALHEAA - 11,5531 =10,670M] (E&HfE&A) +217M () +666H (12 A)

O»

M4 H1H BT
1 fifl i o FEH A5 i #H at
1 14ERpee O FEEwfEE R4 RIEE It
i +
LZ DR, i @ Ikgulfe 6,931 (1 H) X365H0=2,529,8151 (J1F-#210,818M) 2,529,815
M -aa || @ IKERRES 2,310/ (1 H) X365H= 843,150 (HF-#470,2631) 843,150
A af 3,372,965M (HF-¥281,080F)
2 14E68A @ HeEmiE s [ et St
%, sy | HE © (BRmEES 11,5531 X 3131%=3,616,089H] (50FIL\ 1) |) —3,616,100H] (4:-4x) +
5,619,500/
AR e A @ i 166,950 X 12 F =2,003,4001
L-8a (= @ GRS | 11,553 X 31345 X20,/100=723,217.8M (50 Kimit#&) —723,200/ (4:4)
R k2 | Bl © BRRREEE | 1,140,0001 (—B4) 2,247,2001"]
[En=0)) ©® BEEPEREs 32,000l (2 A) X12H=384,00014 (th - /N2 2 ADH4H)
A af 7,866,700F] CRAEEELIRE (—RiE#ER<)  6,726,700H])
3 HHROHY O FEFEEFE 11,5531 X 3131%=3,616,089 (50 LI EWJ |) —3,616,100F (4-4x)
HHE 5,619,500/
e S e @ IritEE 166,950/ X 12 H =2,003,400F
1 MO EH @  FEERRFEGIE | 11,5531 X 313f5 X 20,7100=723,217.81 (50M AmitIiE) —723,2001] (4-4)
o 254 @ FEERIG4 | 3,420,000 (—HE4)
ek 19,927,200
(BEREIZ & © FEERWIIE#ES | 15,400,000 (—4)
% HIREITE) ® IRl 32,0007 (2 A) X12H=384,000"7 (+h - /N34 2 ADH-4H)
A s 25,546,700 (CRAEELIE (—Re2FR<) © 6,726,70011)
4 FECLIHE O EEmEEE 11,5531 X 2235 =2,576,319M  (S0MAiitHE) —2,576,3001 (4#-4x)
HHE 3,269,480
@ ZESEE 11,5531 X 6015 =693,1801] (—H¥4x)
A%
@ EERGA4 | 11,553 X223f% X20,,100=515,263.8[ (50 L, Y] F) —515,300 (4:-4)
ZFBz
@ EFEREIG4 | 3,000,000 (—H4)
RTE B || ik 22,499,300
® ERRE#ES | 18,600,000 (—B4x)
Ji%
® TR 32,000l (2 A) X12H=384,00014 (th - /N¥2E 2 AD44H)
A af 25,768,780 (CRAEELIE (W2 FR<)  3,475,600[1)




